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Beryn

HapuanpHa nucnuiniiHa «AHTIIHCBKA MOBa» CIpPsSIMOBaHA Ha
(hopMyBaHHS HaBHYOK, SIKi IO3BOJSTH CTYIEHTaM TPETHOTO DiBHSA
Bumioi oceitu (piBHsA PhD) BilbHO KOMYHIKYBaTu 3 MiKHApPOJHOIO
HayKOBOIO  CHIJIbHOTOI, JAEMOHCTPYIOUM  Pe3yJbTaTH  CBOIX
JOCTIKEHb Y TTHCHMOBIH Ta yCHIiH hopmax.

Jani MeTomu4Hi peKOMEHJAIll Ta HaBYajdbHI 3aBJaHHSA
CIIPSIMOBAHI Ha:

— [OrNMOJCHHA HABUYOK KPUTHUYHOIO AaHaji3y aHIJIOMOBHOL
HAYKOBOI JIiTepaTypd 1 OBOJIOMIHHS HEOOXiIHOIO TPaMaTHKOIO Ta
(haxoBO-OPi€EHTOBAHOIO JIEKCUKOIO;

— (opMmyBaHHS cCTpaTeriii TMOIIyKy Ta aHaji3y HayKOBOi
iHpopMmarlii,

— BUBYEHHS OCHOB aKaJIeMiYHOTO TIUChMa, CTPYKTYPHUX, MOBHHX,
KOMYHIKATHBHUX Ta PHUTOPUYHHX OCOOIMBOCTEH TEKCTIB, IO
HaJIEXKaTh 10 Pi3HUX XKaHPIB, 30KpeMa HAyKOBOTO;

— MPaKTUYHE OBOJIOJIHHS MOBHMMH HaBHYKAMH JUIS MiATOTOBKH
epeKTHBHOI THMCHMOBOI 3asBKM I y4yacTi y MDKHapOIHHUX
HAaYKOBUX KOH(EpEeHLisX, HOKPaICHHS HaBUYOK MOBJICHHS 1 MCbMa
JUIs  TATOTOBKH  PI3HUX  BHJIB  HAYKOBHX  TIpe3eHTallil,
KOMEHTYBaHHS JIaHUX, BIAMOBIZCH Ha MUTAHHS MiJ Yac JUCKYCiH 3
TeMU Qaxy;

— TpPOAYKYBaHHS 1 mpaBHJbHE O(OPMIICHHS Pi3HOKAHPOBHX
HayKOBHMX TEKCTIB aHIJIIHCHKOI MOBOIO (Te3, cTarei, aHOTaIlii,
pedepariB, po3aiiB TUCepTalliil) BiIIOBIIHO 10 Cy4aCHUX BUMOT.

MeTtoanyHi peKOMeH/Ialli] Ta HaBYaIbHI 3aBIaHHS CKIIaIaloThCA 3
TPHOX YACTHH: BCTYITHOI, TEOPETUYHOT Ta MPAKTUIHOI 1 OKPECITIOIOTh
MIHIMYM MpPaKTUYHAX 3HAHb, HEOOXIMHUX JUIS aHami3y HayKoBOI
JmiTeparypu, uYuTaHHS TpadikiB, TaONMIb, CTATUCTUYHUX JaHHUX
TOIIO, TIATOTOBKH, HAIMUCAHHS Ta MPE3CHTAallii OpHUriHAIBLHUX
pe3yJbTaTIB BIACHUX HAYKOBUX PO3BiIOK.



Task 1. Answer the questions.

1. What is your mother tongue?

2. Can you speak any other language apart from your mother
tongue?

3. Are you bilingual?

4. What are the advantages of bilingual people?

5. How do you learn foreign languages? Do you have any
strategies of learning foreign languages?

6. Why are you learning English?

7. Have you had any experience in communicating in English
with foreigners?

Task 2. Read the text and respond to the questions.

1. Do you agree on the importance of English in the field of
science?

2. What are the advantages of communicating in English on
scientific matters?

3. Is it a scientific or newspaper article? Why?

The Hidden Bias of Science’s Universal Language
Hiutter-Koros, A., The Atlantic, August 21, 2015
The vast majority of scientific papers today are published in English.
What gets lost when other languages get left out?
Newton’s Principia Mathematica was written in Latin; Einstein’s
first influential papers were written in German; Marie Curie’s work
was published in French. Yet today, most scientific research around
the world is published in a single language, English.
Since the middle of the last century, things have shifted in the global
scientific community. English is now so prevalent that in some non-
English speaking countries, like Germany, France, and Spain,
English-language academic papers outnumber publications in the
country’s own language several times over. In the Netherlands, one
of the more extreme examples, this ratio is an astonishing 40 to 1.
A 2012 study from the scientific-research publication Research
Trends examined articles collected by SCOPUS, the world’s largest
database for peer-reviewed journals. To qualify for inclusion in


http://www.researchtrends.com/issue-31-november-2012/the-language-of-future-scientific-communication/
http://www.researchtrends.com/issue-31-november-2012/the-language-of-future-scientific-communication/

SCOPUS, a journal published in a language other than English must
at the very least include English abstracts; of the more than
21,000 articles from 239 countries currently in the database, the
study found that 80 percent were written entirely in English. Zeroing
in on eight countries that produce a high number of scientific
journals, the study also found that the ratio of English to non-English
articles in the past few years had increased or remained stable in all
but one.

This gulf between English and the other languages means that non-
English articles, when they get written at all, may reach a more
limited audience. On SCImago Journal Rank — a system that ranks
scientific journals by prestige, based on the citations their articles
receive elsewhere — all of the top 50 journals are published in
English and originate from either the U.S. or the U.K.

Scientists who want to produce influential, globally recognized work
most likely need to publish in English.

In short, scientists who want to produce influential, globally
recognized work most likely need to publish in English — which
means they’ll also likely have to attend English-language
conferences, read English-language papers, and have English-
language discussions. In a 2005 case study of Korean scientists
living in the U.K., the researcher Kumju Hwang, then at the
University of Leeds, wrote: “The reason that [non-native English-
speaking scientists] have to use English, at a cost of extra time and
effort, is closely related to their continued efforts to be recognized as
having internationally compatible quality and to gain the highest
possible reputation.”

In many countries, college-level science education is now conducted
in English — partially because studying science in English is good
preparation for a future scientific career, and partially because the
necessary words often don’t exist in any other language.
A 2014 report from the University of Oxford found that the use of
English as the primary language of education in non-English
speaking countries is on the rise, a phenomenon more prevalent in
higher education but also increasingly present in primary and
secondary schools.


http://www.scimagojr.com/journalrank.php?category=0&area=0&year=2014&country=&order=sjr&min=0&min_type=cd
http://scx.sagepub.com/content/26/4/390.short
http://www.britishcouncil.org/sites/britishcouncil.uk2/files/e484_emi_-_cover_option_3_final_web.pdf

But even with English-language science education around the world,
non-native speakers are still often at a disadvantage.

“Processing the content of the lectures in a different language
required a big energetic investment, and a whole lot more
concentration than I am used to in my own language,” said Monseratt
Lopez, a McGill University biophysicist originally from Mexico.

“I was also shy to communicate with researchers, from fear of not
understanding quite well what they were saying,” she added.
“Reading a research paper would take me a whole day or two as
opposed to a couple of hours.”

Sean Perera, a researcher in science communication from the
Australian National University, described the current situation this
way: “The English language plays a dominant role, one could even
call it a hegemony ... As a consequence, minimal room or no room
at all is allowed to communicators of other languages to participate
in science in their own voice — they are compelled to translate their
ideas into English.”

Task 3. Read the whole article on
https://www.theatlantic.com/science/archive/2015/08/english-
universal-language-science-research/400919/, learn about the use
of different languages in the world of science throughout history
and present your findings in class.

IMopaau 10 BUKOHAHHSA Pi3HUX BUAIB MepeKJaay HAYKOBO-
TeXHIYHOI JiTepaTypu
Po3pi3HAIOTE TpH OCHOBHUX BHIM HEPEKIaTy HAYKOBO-TEXHIUHOL
JiTeparypu: MOBHUMN, aHOTAIIHNH, pedepaTHBHUA.

IToBHuil nepexynan
[ToBHMI NUCHMOBHMU TepeKjaa — II¢ OCHOBHHUH 1 HaHOUIbII
NOIIMPEHUH BHJ TEpekiaxy. MeTolo TOBHOIO MHCBMOBOTO
nepekiagy € OTPUMAHHS iJEHTUYHOTO TEKCTy I1HIOKW (y HamoMmy
BHIIAIKy — aHIIHChKOI0) MoBo0. IloBHWI mepekiam mepenae
CMHCJIOBHUI 3MiCT OpUTiHATY 0€3 MPOITYCKiB i CKOPOUEHb.


http://ijy.cgpublisher.com/product/pub.187/prod.111
https://www.theatlantic.com/science/archive/2015/08/english-universal-language-science-research/400919/
https://www.theatlantic.com/science/archive/2015/08/english-universal-language-science-research/400919/

[loBHMIT mepexian HAyKOBOTO TEKCTY 3MIHCHIOIOTH 32 TaKUMHU
eTanaMy: YUTaHHS BCHOTO TEKCTY 3 METOIO YCBIIOMIICHHS 3MICTY;
MOJUT TEKCTY Ha 3aBEpILCHI 3a 3MICTOM YaCTHHHM, IXHil TEPEKIIa;
CTHJIICTUYHE peAaryBaHHS MOBHOTO TEKCTY (Ciii 0OPMHUTU TEKCT
BIJIMTOBIZTHO /0 HOPM JITEPaTypHOI MOBH, YCYHYTH IOBTOPH; YCi
TEpMiHM 1 Ha3BW MalOTh OyTH OJHO3HAYHHMMHU; SAKIIO AYMKY MOXKHA
BHCIJIOBUTH KiJIbKOMa CIIOCOOaMU, TiepeBary Ciij BiigaTu CTHUCIOMY;
SIKIIO 1{HIIOMOBHE CJIOBO MOXHa 0e3 IIKOAW JUIA 3MICTY 3aMiHUTH
YKpaTHCBKUM, TO BapTO IIe 3pOOUTH).

[loBHuii mepeknan 30epirac  Bech TEKCTOBMH MaTepianm i
CTPYKTYpy TEKCTY UM TBOpPY MOBH OpHUTiHANy, OTXKE He
JOIYCKAIOThCS HAaBITh HEBUMYILCHI CIIPOIIEHHS BEJIMKUX PEUCHb YU
iXHIl mepekas, Xxo4a peYCHHs MOXYTh OyTH TpaHC(HOPMOBaHI, SKIIO
BOTO BUMAra€ MOBa IepeKiamy.

AHoTauiiiHUIl mepekan

AHOTaNIWHUH NepeKiiaa — e CTUCIIA XapaKTePUCTHKA OpUTIHAITY,
IO € MEPETiKOM OCHOBHHUX MTUTaHb, 1HO/I MICTHTh KPUTHYHY OIIIHKY.
Takuit nepeknan nae QaxiBleBi ySIBICHHS PO XapaKTep OpUTIHATY
(HaykoBa CTaTTs, TEXHIYHUH OIMUC, HAYKOBO-TIOMYJISIPHA KHUTA), TIPO
HOTo CTPYKTYpPY (SIKI MUTAHHS PO3MIISIHYTO, Y SKIM IOCIIJOBHOCTI,
BHUCHOBKM aBTOpa), NpO NPHU3HAYEHHS, AaKTyaJbHICTh OpUTIiHANY,
OOTpYHTOBaHICT, BHCHOBKIB Tomo. OOcar aHoTarii HEe MOXe
nepesuiryBatd 500 IpyKoBaHUX 3HAKIB.

CrnoBo aHoTalisi MOXOXUTH BiJl JIATUHCBKOTO annotatio —
IpUMITKa. AHOTALisl — 1€ KOPOTKA, CTUCIIA XapAKTEPUCTHKA 3MICTy
Ta MEepeNiKk OCHOBHUX MUTaHb KHUTH, CTATTi, pyKomucy tomo. OTxe,
aHOTAIlis IOBUHHA JIATH YUTady YSBJICHHS MPO Xapakrtep, il OynoBy
Ta MPU3HAYCHHS OPHUTiHATY.

JIekCHKO-rpaMaTH4YHi 0COOIMBOCTI aHOTAILI:

® RBXHBaHHS CKIagHUX (CKJIagHOCYPSIIHUX Ta CKJIaJHO-
HiAPSAHNX) pEUeHb;

® BXHUBAHHS JIENPUKMETHUKOBHUX Ta JIIENPUCIIBHUKOBUX
3BOPOTIB;

® B)XMBaHHSI TAaCUBHOTO CTaHy A1€CIIiB;

® BXXMBAHHS KJIiIIe, TOOTO 4acTO BKMBAHUX y METa-TEKCTaxX CIIiB
Ta CIOBOCIIONYYEHb.




CrpyKTypa aHoTalii:

1. BcrynHa yactrHa, sika BKIIIOYA€ BUXI1THI JaHi:

— Ha3BY CTaTTi;

— Mpi3BUILE Ta iM’s aBTOpa Ha yKpaiHCHKiil MOBI;

— Ha3By CTaTTi, MPI3BUIIIE Ta iM’ S HA MOBI OPUTIHANTY;

— Ha3By XypHaTTy a00 KHUTH, BUJABHUIITBO HA MOBi OpPHTIHAIY;

— PiK, MiCSIlb, YUCJIO, HOMEP TIEPIOUIHOTO BUIAHHS;

— KUTBKICTh CTOPIHOK.
II. OcHOBHA YacTHHA, B AKIH:

— QopMymIoeTbesl TeMaTHYHE TONe (MpoOJeMaTHKa), 10 SKOTO
HAJIC)KUTH CTATTS;

— Ha3MBAaIOTHCS OCHOBHI MMTAHHS CTATTI;

— BHBHAYAETHCS TOJIOBHA MNpobiemMa, AaeTbes 1i AyKe cTUCHa
XapakTepuCcTUKa Ta 3aJyM aBTOPa CTATTI.
II1. 3akirouHa YacTUHA, SIKa MICTHTh:

— BUCHOBOK aBTOpa MPO CTATTIO B LILIIOMY;

— MOCHJIAHHS Ha ajipecaTa CTatTi.

Hwxdae HaBeneHi HaOLIBII MOMIMPEH] KJille, SKi BXXUBAIOTHCS Y
BIAIOBIAHIN YaCTHHI aHTJIOMOBHOI aHOTAL].

L.
a) The title of the article is...
It is written by prof... and published in London in the
journal..., No.3, vol.4, 2011
magazine..., No.3, vol.4, 2011
collection of articles ... by... editorial house in 2011
book ... by... editorial house in 2011
b) The article... by prof... is published in the journal..., in N.Y., pp.5-10.
1L
a) The article deals with
discusses
touches the problem of ...
discloses
is devoted to

on pp.3-10

The text tells us about ...



b) Disclosing the problem the author dwells on (upon) such matters as...

The major points
matters of the text are the following: ...
problems
issues
¢) The author pays special attention to ... ‘
draws readers’ attention to ...
Much
Great attention is paid to... ‘
Special
The author concentrates on, focuses on
stresses, underlines, emphasises
points out
dwells on (upon)
distinguishes between
speaks in details
gives the classification
IIL.
a) As far as [ am an expertin ... |
consider
believe
suppose the article to be of some (great) interest for ...
think
guess

b) | In my opinion
From my point of view the article is of
To my mind

reat | .
8 interest for

the students in Economics
the specialists in...
a wide range of readers

PedepaTuBHuii mepexiay
PedepatuBnuii nepeknan — 1) MUCBMOBHI TepeKiIaz 3a3qaleriab
BimiOpaHMX YAaCTHH OpHWTIHANY, M0 CKIAJal0Th 3B ’S3HUH TEKCT;
2) BUKJIaZ ~ OCHOBHHX  TOJOXEHb 3MICTy  OpHTiHamy, IIO



CYIIPOBO/KYETHCS ~ BHUCHOBKaMH U oIiHKor0. PedeparuBHuit
nepexnan y 5-10 i Oinpine pasiB KOPOTIIHIA 32 OpUTIHAIL.

3 opuiei cropoHH, pedepaTUBHMH mepeknan € (opmoro
pedepyBaHHS Ta 3MiCTOBOKO PEAYKIIE€I0 TEKCTY. 3 IHIIOI CTOPOHH,
BiH TiANafae ImiJ O3HAYEHHS IEpeKiany sK Irepemadi iHpopmariii,
sIKa 3HAXOJIUTHCS Y AEIKOMY TBOPi, 3ac00aMH 1HIIIOT MOBH.

BignoBigHo 10 mepmoro 3 BH3HAYEHb TEPMiHY «pedepaTuBHUM
TepeKIIay iICHYI0Th HACTYITHI OCHOBHI €Taly HOTO ITiITOTOBKH:

® BUJIIICHHS KITFOYOBUX (DparMeHTiB;

e moBHe abo wyacTkoBe MepedpasyBaHHS YAaCTHHU BUIIICHHX
KITIOYOBUX (parMeHTiB;

3rifHo 3 JOPYrUM BH3HAUEHHSM TepMiHy «pedepaTuBHHAN
nepekyam podboTa HaJl HUIM BiIOYBAETHCS 32 TAKOIO CXEMOIO:

® JIOKJIaJiHEe BUBUCHHS OpUTiHAIY;

® BHKJIA]] 3MICTy OpPHTIHATY 32 BIACHUM IUIAaHOM, SIKHH ITOBHHEH
BimmoOpakaTH:

— MPOOJIEMATHKY TEKCTY;

— OCHOBHI IIUTaHHS TBOPY;

— aKIeHTH, $fKi, 3 TOYKH 30py aclipaHTa/acmipaHTKH,
3aCIyroBYIOTh Ha OCOOJIMBY YBarys;

® (hOpMYJIIOBaHHS BUCHOBKIB, MOKJIMBE BUCJIOBJICHHS OLIIHKH.

Crig BiAMITHTH, 110 X04Ya B aHOTAIIi Ta pedepaTi € MeBHI CITUTBHI
pucH (oOuBa 11 BUIM TBOPIB HAJIEKATh JI0 HAYKOBUX META-TEKCTIB),
iXHBOIO TOJIOBHOIO BIJMIHHICTIO € Te, IO HpU pedepaTUBHOMY
MepeKyiazi OCHOBHI  MIKPOTEMH TIOBHHHI OyTH HE IWIIe
BU3HAYCHUMH, SK B aHOTALIHHOMY NepeKiaai, ame W IOBHHHI
PO3KpHUBATHCS OLIBII OOIIUPHO.

SIK11o B opHriHalli € MAIIOHKH, KPECJIIEHHSI, TO MOTPiOHO BHOpaTH
HaO1IbII BaXIIMBI 1 MOSICHUTH 1X TPHU MEpeKIaii.

inroroBka riaocapiro
[Tig yac YuTaHHS AaHTIIOMOBHOI OPUTIHAILHOI JTEpaTypH (SIK MpH
YCHIl 3/71a4i IepeKIay, TaK i MpH MiAroToBIl pedepaTy) acmipaHT/ka
BUIIICY€E HE3HAWOMI CJIOBA y CIIOBHHK.
Ha nactynHoMy erami 3 ychbOro MacuBy HE3HAHOMHX CIIiB CIIif
BHIIUTATH TEPMiHH, IO CTOCYIOTHCS KOHKPETHOI crreriaabHocTi. Lle
MOXYTh OyTH SK OKpEeMi CJOBa, TaKk 1 cioBocmoidydyenHs. Jlami mi
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http://uk.wikipedia.org/wiki/%D0%A0%D0%B5%D1%84%D0%B5%D1%80%D1%83%D0%B2%D0%B0%D0%BD%D0%BD%D1%8F
http://uk.wikipedia.org/w/index.php?title=%D0%9F%D0%B5%D1%80%D0%B5%D1%84%D1%80%D0%B0%D0%B7%D1%83%D0%B2%D0%B0%D0%BD%D0%BD%D1%8F&action=edit&redlink=1

TEPMIHOJIOTIYHI OJWHMIN TOTPiOHO OpraHi3yBaTH B  aHIJIO-
YKpaTHCHKUIl CTIOBHHK, PO3MICTHBIIH iX B ali)aBiTHOMY MOPSIKY.

CnOBHUK, SIKWI BKJIIOYAETHCS B pedepar, MOBUHEH MICTHTH HE
mente 100 TepmiHiB.

Mos HaykoBa podoTa
The PhD Thesis

Kgamidikamiitna HaykoBa po0oTa € HAWMBaKIHMBIMIO YaCTHHOIO
JOKTOPCHKOTO HAYKOBOTO CTYIIEHs: 1€, BJIACHE, Pe3yJbTaT TPhOX-
YOTUPHOX POKIB TOBHOI pOOOTH, CIHPSIMOBaHOI Ha CTBOPEHHA
OPHUTIHATFHOTO BHECKY Y Ballly aKaJIeMidHy cepy.

[lepmum  po3ainom  ksanighikayitinoi pobomu 3a3BUuYail Oyze
OTJISA[ JIITEpaTypH.

[Ticns 3aBepIIeHHS OTIISY JIiTEpaTypH MEPeXOIsTh 10 OCHOBHOI
YaCTMHU KBasi(ikamiiiHOi poOOTH. 3BUYAWHO, 10 3AIMCHEHOTO
OIJISIIy TIOBEPTAKOTHCS, JUIS TOTO II00 TEPEKOHATUCS, IO BiH
OHOBJICHHH 1 MICTUTHh OyAb-SKHH JOAATKOBHU Matepiall, 3 SKAM
MO’KHA 3ITKHYTHCS ITiJ] 4ac TOCIiPKEHHSI.

o Bimpi3Hse kBamidikaiiiiHy HaykoBy poOOTy Bij TONepeaHboi
poOOTH B YHIBEPCHUTETI, Ky BU BHKOHYBAIIM, TaK II€ TOW (aKT, IO
BOHA TIOBMHHA IMPEACTABIATH COOOI0 OPHIIHAIBHHH BHECOK Yy
akajeMmiuHi 3HaHHs. DopMma, siky HaOyje 1eil OpuriHaJbHUN BHECOK,
3HAYHOIO MipOI0 OyJie 3a/ieKaTH BiJ| BalllOi CIIeiaIbHOCTI.

BiamoBimHO 10 XapakTepy AOCHIDKEHHS, MOXKHA «3alUCyBaTH»
CBOI JTyMKW/BUCHOBKHM B IIpOLleCi poOOTH abo0 3alUIIUTH Ie 0
CHELIANBHOTO TEPiofy «3alMCyBaHHS», SK MPABHIO, HA TPETHOMY
poli miaAroToBKy KBanidikaiitHoi poGoTu.

CTPYKTYPA KBAJII®IKAIIMHOI HAYKOBOI POEOTH

3aranpHuiA Ma0JI0H, SKOTO JOTPUMYIOTHCS y TIPOIIECi HAITMCAHHS
KkBaJTidikamiiHoi podoTu:

BCTYIl — y HbhOMY BH3HAYAIOTBCS KIIOYOBI I BalIoro
MPOEKTY, YOMY po0OTa € BRKIUBOIO 1 SKWH ii OpUTIHATBHUN BHECOK
y 3HaHHSA. Y Wil yacTWHI MOXHa 3almpONOHYBaTH a0CTPAaKTHUIM
apryMEHT, SIKHi PO3BUBAaTHMETHCS Yy HACTYITHUX PO3Aiax.

OoI'JisAJl JITEPATYPU — Beryn 3a3Buuaii Befe A0 HaIMCAHHS
orysAny JitepaTypu. TyT OKpECTIOETbCS HAYKOBUH KOHTEKCT POOOTH.
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OCHOBHA YACTHHA. Ilicns 3aBeprineHHS O3HAHOMIICHHS 3
JOCHIJDKEHHSIM, TIEPEXOAATh O OCHOBHOI YacTUHM JUCEpTallii, Je
y3arajbHIOIOTh PE3yJbTaTH Ta MOSCHIOITh apryMeHTd. Jleski
kBasi(ikariifHi pPoOOTH TAKOXK MICTATh OKPEMi PO3IIIH IPO
METOOJIOTiI0 Ta/abo BIATBOPEHHS OTPUMAaHMX JaHUX. IHII
PO3BUBAIOTh AapryMEHTAIIF0 Ha HEBI €TaliB, CIHPAIYACh Ha
JpKepesa Ta pe3yNbTaTH, SIKIIO BOHHU JOPEUHI.

BHUCHOBOK. [ducepraiis 3aKiHIUTHCS OCTAaHHLOIO TJIaBOIO, SKa
o0’emHye Ppi3HI €JIeMEeHTH apryMeHTallii Ta [mOoKash. ABTOp
MEPEKOHYE y BAXJIMBOCTI poOOTH Ta i1 HAA3BUYAMHO BAXKIMBOMY
OpHUTriHAILHOMY BHECKY B HayKy. TyT 3a3HayaroTh MOTEHIUaNl JUIs
MOaJbIIOT poOOTH 200 MOXKIMBOCTI 3aCTOCYBAaTH CBOI BUCHOBKH 3a
MEXaMH aKaJeMIYHUX KiJI.

BIBJIIOI'PA®IA TA JOAATKU — Hanpukinmi KBamigikariifnol
poOoTH MOTPiIOHO BKIFOYNTH MTOBHUMA CITMCOK KHUT, CTaTel Ta JaHUX,
Ha SIKi 3[iHCHEeHO mocuianHs B Oi0miorpadii. Takoxk Mo)KHA HaIaTH
JOJTATKOBY 1H(OPMAITIIO Y BUTJISII JTOAATKIB.

Bapro 3naru: Experience from Abroad
PhD Thesis Feedback
Your supervisor will usually give you feedback on each chapter
draft, and then feedback on the overall completed dissertation draft
before you submit it for examination. When the thesis is a work-in-
progress, their comments will be a chance for them to make sure
your research is going in the right direction and for you to ask their
advice on anything you’re concerned about. This feedback will
normally be given in the form of a supervisory meeting.
Although your PhD supervisor will be happy to give you advice on
your work, you shouldn’t expect them to be an editor — it’s not their
responsibility to correct grammatical or spelling mistakes, and you
should make sure any drafts you submit to them are as error-free as
possible. Similarly, they won’t be willing to edit your work down to
fit a particular word count.
Finishing your PhD thesis
When you’ve finished the final draft of your doctoral thesis and it’s
been approved by your supervisor, you’ll submit it for examination.
This is when it’s sent to the examiners who will conduct your viva.
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Submitting your thesis involves printing enough copies for your
examiners and the university’s repository. Don’t leave this until the
last minute — printing multiple copies of a 300-page document is a
substantial undertaking and you should always allow enough time to
account for any possible glitches or issues with the printing process.
Your viva will usually take place within three months of submitting
your thesis. After your viva, your examiners will give you a report
that confirms whether or not you need to make any changes to your
thesis, with several different potential outcomes:
Pass — You’ve received your doctoral qualification!
Minor corrections — These are usually fairly small edits, tweaks and
improvements to your thesis, which you’ll be given three months to
implement
Major corrections — For these substantial changes, you may have to
rewrite part of your dissertation or complete extra research, with a
six-month deadline
Most PhD students will need to fix some corrections with their thesis
(hopefully not major ones). It’s very rare for a dissertation to be
failed.

(3a https://www.findaphd.com/advice/doing/phd-thesis.aspx)

PexomMeHnaaii moao ckiaagaHHsa Ta Npe3eHTAalil NoOBiToMIeHHS

lotytoun pedepar, ciain BKIIOUYUTH B HBOTO IIOBiZOMIICHHS
AHITIHCHPKOI0 MOBOK TIPO CBOE HayKoBe JOCHiKeHHS. J[lane
MTOBIIOMJICHHS OIIIHIOETHCA Y 2 (hopMax, a came:

® y nmucsMoBOMY BUTIIAI (y pedeparti), e mepeBipseTbCs PiBEHb
BMiHb THChMa, BMIHHS CKJIaJaTH HAyKOBi 3BiTH, MHCHMOBI
JIOKYMEHTH TOIIO;

® [pH YCHI mpe3eHTanii HayKoBOi pPOOOTH JIEMOHCTPYIOTHCS
HaBUYKH MOHOJIOTTYHOT'O Ta AiaOTIYHOTO MOBJICHHS.

[MuceMoBHIA BapiaHT TOBIIOMIICHHS CITYT'Y€e 023010 JUIS pO3IIOBii
Mpo pi3HI acleKkTd HayKoBOi POOOTH acmipaHTa/aclipaHTKH Ha
eK3aMeHi.
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JlekcuKko-TepMiHOJIOTiYHMIT MaTepian, HeoOXiTHMIA 1J1s
MOBiIOMJIEHHSI TIPO CBOI0 HAYKOBY Po6OTY

My Research Work
1.Iama 1.4
— post-graduate student — acnipanm/xa
— post-graduate — acnipanm/ka
— research student — noutyKogeysb

— research student on
probation
— a probationer

2. I have been working as ... for

two years

3. I started research under

professor X
—while a student
— while at the University

4. Prof. X did distinguished
research in ...

5. He

— delivers lectures on ...
— gives lectures on ...
— he lectures on ...

6. Last year I took my post-
graduate course at the
Department of

— Geodesy
— Building Materials

7.1 am doing my post-graduate

research under Prof. X.

8. I specialise in ...

9. I work in the field of ...
10. I take an interest in ...
11. I am interested in ...

12.Tam
— most interested in ...

— especially interested in ...

— CMadNCcUcm-00CALOHUK

— cmasicucm-00CiOHUK
2. 41 mparroro ... mpoTAroM 2 poKiB

3. 51 po3noyaB TOCIiPKEHHS ITi]T
KepiBHUITBOM mpodecopa X
— We cmyoeHmom
— HABYAIOYUCH 8 YHIBepCUmemi
4. I[Ipod. X npoBiB BUaaTHI
JIOCITIDKEHHS B TATy3i ...
5. Bin
— Yyumae nexKyii 3 ...
— Yyumae nexKyii 3 ...
— YuUmae nexKyii 3 ...
6. MuHyJ0TO POKY S TOCTYITUB B

acmipanTtypy Ha Kadeapy

— eeolesil
— bydigenvHux mamepianie
7. 51 npoBOIXKY acmipaHTChKE
JIOCITDKEHHS I11]T KEPiBHUIITBOM
mpod. X.
8. S cneniamizyrocs B ramysi ...
9. S npaoro B ramysi ...
10. A umikasmrocs ...
11. A uikaBmrocs ...
12.
— Haiibinbue mene yixasnsamo
— Mene ocobnuso yikaensime ...

14



13. While at the University, |
joined the student scientific
society
There I made some reports
on the results of my
experiments and studies
I read some papers at the
student scientific
conferences
They were published later on
Since then I have been
engaged in research
I am doing research on the
problem of ...

I am working hard on the
problem of ...

This work is

— in a preliminary stage

—in progress

— nearing completion

21. I worked a great deal in the

— library of our University

— regional scientific library

22. I started by

— reading special literature

— collecting different
theoretical material on the
problem

— collecting interesting facts

— collecting, arranging and
analysing the data and
information obtained

23. We are carrying out some

interesting experiments

24. We hope to receive some

reliable data

14.

15.

16.

17.

18.

19.

20.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

15

[Ile B yHIBEpCHUTETI 5 BCTYITUB B
CTYZICHTChKE HAYKOBE TOBAPHCTBO

Tam st poOUB 1OTIOBIII 32
pe3ynbTaTaMu JOCIIKEHHS Ta
eKCIICpUMEHTIB

S] unrTaB nomoBial Ha
CTYAEHTCHKHX HayK.
KOH(EpeHIIisix

ITizHime BoHU Oynu omy6JiKoBaH1
3 Toro yacy s 3aiiMarocs
HayKOBOIO POOOTOXO

S mpoBOKY JOCHIKEHHS 3
npoOJeMH ...

$1 HanoJIerIMBO MPAIO0 HAJ
IPOOJIEMOIO ...

Most pobota

— HA NOYAMKOBOMY emani

— 6 npoyeci

— HAOIUINCAEMBCA 00 3a8ePUIeHHS
41 Gararo mpairoBaB B

— bibaiomeyi ynisepcumemy

— obnacHii Haykosill 6ibriomeyi
S posnoyas 3

— YumanHa cney. rimepamypu

— 300py meopemuyHo20o

Mmamepiany 3 npooremu

— niobopy yixasux ¢axmie
— 360py, cucmemamu3zayii ma
AHAai3y OMPUMAHUX OAHUX

Mu nipoBOIUMO I1iKaBi
EKCIIEPUMEHTH

Mu criofiBaEMOCSI OTpHUMAaTH
JOCTOBIPHI AaHi



25. We have developed quite a
new approach to the problem
I am through with the
experimental part of my
work
I have completed the
experimental part of my
work
I have thoroughly analysed
all data and facts obtained
29. When I encounter some
difficulties in my research, I
consult my supervisor whose
advice is always most
helpful
30.Iam
— working for my thesis
— doing my dissertation
31. I have started working for
my thesis this year
32. I started doing my
dissertation 2 years ago

26.

27.

28.

25. Mu po3poOwiii HOBHH HiAXia A0
i€l mpobaemMu

26. 41 3aKiHYUB €KCIIEPUMEHTAIBHY
4acTUHY poOOTH

27. 51 3aKiHYUB eKCIIEPUMEHTAIEHY
4acTUHY poOOTH

28. S perenpHO poOaHaIi3yBaB
oTpHMaHi JaHi Ta pakTn

29. Konu s cTukaocs 3 TpyAHOLAMU
B pOOOTI, 51 KOHCYJIBTYIOCS 3
HAayKOBHUM KEPIBHUKOM, IOPaIH
SKOTO € Iy’Ke KOPUCHUMH

30. A
— npayroio Hao oucepmayicio
— npayrio Hao oucepmayicio
31. i posmouaB pobOTy Hax
JIUCEPTAIIEI0 IbOTO POKY
32. 4 posnouas poOoTy Hal
JHCEPTALIEI0 2 POKH TOMY

Task 1. Complete each sentence with the best form of the verb

‘be’.

1. Throughout history, there ___ scientists who have suggested
that women are less intelligent because their brains are smaller.

2. Test results show that there ___little difference in the abilities
of boys and girls under 7 years of age.

3. There ____ 250,000 teenagers involved in the OECD test
administered in 2003.

4. There ____ no significant differences in the results for boys
and girls in half the countries tested.

5. There undoubtedly ____ further studies into the learning

abilities of males and females.



Task 2. Complete the following sentences by putting the verb in
brackets into the most appropriate tense.

1. The number of students choosing Business __ (increase)
considerably throughout the 1980s.

2. If the trend continues, by 2025 the percentage of graduates
__ (double).

3. For the last five years, on the job training (rise) steadily.

4. Figures for this year (reveal) a slight drop.

5. In the next decade, the ratio of males to females (level
off).

6. The table shows that retraining (grow) for the last 30
years.

7. The proportion of non-Asian students (decline)

gradually in 2000 but this year it (remain stable).
8. The cost of subsidies, which (fall) throughout the 1990s,
____ (begin) to rocket in 2000.

Task 3. Put the verbs in brackets into an appropriate passive
tense.
Did you know?

1. To meet the demand for hardwood, 4.5 million hectares of
rainforest ____ (log) each year. Hardwoods take hundreds of years to
mature, so they (cannot/easily/replace).

2. Topsoil can take 1000 years to develop, and yet it __
(can/destroy) in less than 10 years.

3. The rainforest contains such a density of plants that it ____
(call) ‘the lungs of the world’. The atmosphere on which life depends
__ (create) by the exchange of oxygen and carbon dioxide which
takes place when sunlight _____ (convert) into energy.

4. Forests absorb solar energy. Now that they are disappearing,
the ‘shininess’ of the earth’s surface _ (alter). As a consequence,
in the near future wind currents and rainfall ___ (disrupt) and
weather patterns worldwide (affect).
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Task 4. Complete the text with passive verbs from the box in the
appropriate tense.

cause devise give heat (2) measure rate (2) |
Wind is a natural current of air which is caused (0) by differences in
air pressure within the earth’s atmosphere. Wind occurs when air
flows from an area of high pressure to an area of low pressure. Wind
can be global or local. Certain parts of the earth (1) more than
others by the sun, causing air to rise and creating an area of low
pressure. Air flowing from high pressure areas to these areas of
lower pressure creates wind. Wind occurs near water because the air
above the land (2) more than the air above the water. Winds
that always happen at the same time or in the same way (3)
names, foe example, the mistral in southern France and the sirocco in
North Africa. Wind speed (4) using a rating system called the
Beaufort scale. The scale, which (5) by Sir Francis Beaufort, a
British admiral, describes wind behavior at various speeds: a calm
day (6) as zero while a hurricane (7)____ asl2 on the scale.

Task 5. Complete the text with the correct form of the verb in
brackets. Use the active or passive voice as appropriate.

It’s not just employees who (1 catch out) on Facebook and
find their jobs in peril. Company managers need to be wary of how
their postings (2 might interpret). Managers (3 expose)
boasting about underpaying workers and competing with other
managers for who (4 spend) the fewest number of hours in the
office. In one example, a department store manager (5 video)
himself posing as a shoplifter in the very store he worked in, and
(6 make) it into a ‘how-do’ video uploaded for public view
online. The security department of the store (7 inform) and
used the content of the video to ____ (8 improve) their anti-theft
measures. The stone’s owner was appreciative — a thank-you note to
the manager ____ (9 include) along with the notice informing him
that his employment ____ (10 terminate), effective immediately.
There’s a great deal ____ (11 gain) by thinking twice before pressing
the ‘upload’ button. (12 sack) for something so obviously
irresponsible is perhaps not too high a price to pay.
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Task 6. Open the brackets and use the verbs either in Infinitive
(to V) or Gerund (Ving) form either in active or in passive Voice.

1. The weather is unlikely in the next few days. (improve)

2. We had no trouble your address — your directions
were perfectly clear. (find)

3. It’s impossible an exact measurement but we can

give an estimate. (give)

4. This is surprising given that organisations invest huge amounts
of money in packaging that they believe is effective.
(develop)

5. This requires comparatively little effort and involves
at only a small amount of the product information.

6. I’ve nearly finished the task but I forgot

a bibliography, so I’d like an extension, if it’s possible.
(add, have)

7. The new government needs notice of the opinions of
the people. (take)

8. Economists predict that house prices will go on for at
least another year. (rise)

9. The conservationists want the area with the
minimum of human disturbance. (maintain)

10. Please don’t hesitate us if you require any further

information. (contact)

Task 7. Complete the sentences with suitable prepositions.

. A major cause accidents is that drivers going too fast.

. Any change ____ lifestyle can have an effect ___ your health.

. The subject cloning raises a number ethical issues.
. Traffic congestion causes serious problems _____ drivers.

. Fuel-efficient cars have already gone production.

. The reasons _____ the present crisis are various.

. The crash resulted the deaths of all the passengers.

. Solar energy offers a low-cost solution ____ our fuel problems.
. The figures indicate an upward trend ____ sales.

o RIS U A W -
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Task 8. Complete each sentence. Use one word from List 1 as a
noun or verb and one word from List 2. You can use any word
more than once.
List 1: concern design make protect support take
List 2: about against as by for (2) from in of up

0. The building was made of glass, marble and concrete.

1. The need for cities to expand must be balanced againsta

the environment.

2. The new art gallery was originally a stately home.

3. In warm weather, shutters will _____ a house the effects
of the sun.

4. Many people are justifiably the lack of housing
and the rising property prices.

5. Many insurance policies will not _____ your home ____ flood
damage.

6. The workforce is of a large proportion of women.

7. You can see from their size that these apartments were
people with a physical disability.

8. The ceiling is high stone columns.
9. I promised to him his campaign to become mayor of
the city.

Task 9. Write the text-organizing words in the box next to the
appropriate category.

alternative amount answer  consequence
controversy debate  discussion dispute  event
extent  number  outcome project result  scheme
scope suggestion  viewpoint

0. problem / cause: issue, concern, reason, obstacle
1. solution / effect:

2. action / activity:

3. size / quantity:

4. argument / opinion
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Task 10. Complete each sentence using any one of the words
from task 9. You may need to use plural forms. In some
questions more than one answer is possible.

The problem of environmentally friendly tourism is a major
issue/concern for many countries. In few parts of the world is the (0)
problem so acute as in Hawaii, where tourism accounts for one third
of the economy. Many inhabitants of states like Hawaii, which attract
large (1) of tourists, do not want to ban tourism, but would
rather encourage ecotourism. For example, one (2) to the
problem of large numbers of tourists destroying wildlife in certain
areas is to allow only a certain number of tourists per month to visit
those areas where wildlife is being affected by human (3) Ctis
hoped that (4) such as this will make tourists more aware of
the (5)___ of the activities they engage in. However, there is an
(6) that ecotourism brings problems of its own. For example,
the (7) of ecotourism for many of those employed in more
traditional tourist activities, like luxury hotels, has been a loss of
revenues. The (8) of the problem for environmentally fragile
areas, like Hawaii, cannot be underestimated. Nor can the importance
of finding workable (9) !

Task 11. Look at the Useful language box below, then rewrite the
sentences underneath replacing the words in italics with
language from the box.

Useful Language: Avoiding absolute statements

Expressing probability

This solution would | certainly have a positive
probably effect.
Such a policy may possibly make the situation
could worse.
might
It seems highly | possible that the problem
(un)likely will get worse.
Avoiding ‘all’ or ‘every’ Avoiding ‘always’
certain + noun sometimes
the majority of often
a minority of occasionally
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a large number of at certain times
many + countable noun

a few

much + uncountable noun

a little

0. It seems unlikely that poor road conditions are the only
explanation for road accidents.

1. All road accidents cause fatal injuries.

2. Everyone believes that drivers always drive too fast.

3. Higher fines for speeding will reduce the number of accidents.

4. Having speed cameras on all streets is the best solution to the
problem of speeding.

5. It is a fact that every accident involves drivers who have
consumed alcohol.

Task 12. It is important to understand question task words to
make you sure you do not move away from the topic. Check the
meaning of the words in the dictionary.

1 justify a) to carefully think about a situation or problem
in order to make a judgement

2 evaluate b) to offer an idea or suggestion

3 analyse ¢) to explain how things / situations are different
and how they are similar

4 suggest d) to show that there is a good reason for

something, particularly something that others
believe is wrong

S summarize | e) to examine something in detail in order to
explain what it means

6 describe f) to write about a topic in detail

7 discuss g) to give detail or an explanation about what
something or a situation is like

8 speculate h) to describe a situation and then give an
opinion about its values or importance using
evidence.

9 assess i) to discuss and give reasons why something
has happened

10 compare J) to bring together all the important points,

leaving out any specific details
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Phrasal verbs in Academic English
Table: Phrasal verb

be made up of

carry out a series of
experiments/research

go against current theories
go into (the causes of the ...)
go/look back over (this term
notes)

go on to

go through

put forward (an
idea/view/opinion/theory/plan)
make up

point out

point up

set out (to do something)
set out (experiments)

set up (series of)

work on (behaviour)
work out

write up

one-verb synonym
consist of
conduct

not be in agreement with
discuss
revise, review

do something after doing
something else

check

present

constitute

observe

highlight

aim

describe

prepare, arrange

study, work in the field of
(why) come to a
conclusion about

(of an important
document) write in final
form

Task 13. Study the vocabulary and rewrite the sentences
replacing the underlined word in each sentence with a phrasal
verb from the table. Note that both versions of each sentence are
equally appropriate.

1. We conducted a series of experiments to test our hypothesis.

2. Before the test you should revise Chapters 7 and 8 of your
textbooks.

3. In his article on the American Civil War Kingston discusses the
reasons why the situation developed in the way it did.

4. Cole presents some fascinating theories on the development of
language in his latest book.
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5. The psychologist observed that it was very unusual for a young
child to behave in this way.

6. Please check your work again carefully before handing it in.

7. In this article Simpson aims to prove that the Chinese reached
America long before the Vikings.

8. Women now constitute over half the student population in most
universities in this country.

Task 14. Fill in the missing words in this paragraph.
As part of my MA I’ve been doing some research on language
acquisition. I’ve been working (1) how young children learn
their mother tongue. I’ve been carrying (2) some experiments
to see how much reading to young children affects their language
development. I’ve had a great supervisor who has helped me set (3)
my experiments and she’s also pointed (4) ____ lots of
interesting things in my data that I think should be able to put (6) ____
some useful ideas. It’s been really fascinating and I hope I may be
able to go (7) ____ to do a doctorate in the same field although I
certainly never set (8) ___ to do a PhD.

Task 15. Match the beginning of each sentence with the most
appropriate ending.

1. Feudal society was made forward a convincing theory with
regard to this question.
2. Carlson was the first to put | out the flaws in the school's
testing methods.

3. Her results appear to go out the solution to the algebra
problem.
4. The investigation pointed out a lot of basic information

about all the world’s countries.
5. It took him a long time to | against what she had found in

work her earlier studies.
6. The geography book sets up of clearly defined classes of
people.
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Task 16. Answer these questions.

1. What sort of things might a scientist carry out?

2. If you want to study something in more depth, what might you
go on to do after getting a first degree?

3. What do postgraduate students typically have to write up at the
end of their studies?

4. What sort of things do good students regularly look back over?

5. What sorts of things do scholars typically put forward in their
lectures or articles?

6. Why is it sensible to go through any maths calculations that
you had to make as part of a research study before you draw any
conclusions?

Task 17. Rewrite the sentence by putting either a verb—adverb or
an adjective-noun phrase in the gap. (Use grammar rules
correctly.)
Examples
1. There was a slight fall in house prices in 2017.
The prices fell slightly in 2017.
2. Sales experienced a gradual decline in the first half of the year.
Sales declined gradually in the first half of the year.
3. Commodity prices rose sharply last year.
Commodity prices experienced sharp rise last year.
4. Her presentation skills really improved after she did the training
course.
There was real improvement of her presentation skills after she
did the training course.
Her presentations skills experienced significant improvement
after she did the training course.
After she did the training course her presentation skills showed
real improvement.
Her presentation skill shows real improvement after she did the
training course.
1. After a decline in June, the share prices recovered dramatically
in July.
2. There is often a sudden increase in demand before Christmas.
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3. There was a slight dip in share prices on Monday.
4. The GDP decreased steeply to 2% last year.

5. The share price changed only slightly last week.
6. Our sales performed strongly in the last quarter.

Task 18. A collocation is a combination of two or more words

which occur together or in a close proximity to each other in

both spoken or written discourse. The key dimensions of a

collocation is its fixedness in forms with semantic transparency

and popularity in native speaker’s communicative repertoire.

A. Nouns and the words they combine with

Adjective + noun

contact useful, valuable, personal, constant, close,

frequent, intermittent (=from time to time)

I made some useful contacts at the conference.

debate considerable, heated (=strong, often angry),

intense, public, animated (=lively)

After the lecture there was a heated debate.

element (=factor) | crucial, decisive, fundamental

Timing is a crucial element of the experiment.

elements (=parts) | conflicting, contrasting, constituent (=that
combine to make something)

There are conflicting elements in the artist’s work.

energy | excess, sufficient, nuclear

Wind turbines create sufficient energy for the town’s needs.

phenomenon | common, isolated, natural, recent, universal

Such antisocial behaviour is a recent phenomenon.

results conflicting, (in)conclusive, unforeseen (=not

expected), preliminary (=first), encouraging,

interim (=temporary)

Our preliminary results were encouraging.

role decisive, challenging, conflicting, influential,

key, pivotal (=important)

Student activists played a pivotal role in the riot.

sample | random, representative

A representative sample of the population was surveyed.

in ... terms absolute, broad, relative, general, practical,
economic
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People are better off in economic terms.

way alternative, efficient, fair, practical,
convenient, proper, acceptable

It is important to treat your research subjects in a fair way.

B. Noun + verb

Most of the nouns in the table above are also strongly associated with
specific verbs.

You can come into contact with someone or something or you can
establish, maintain, break off or lose contact.

Academics may engage in debate or contribute to a debate. You
talk about the debate surrounding an issue.

You can combine, differentiate or discern (=recognise) the
elements of a chemical compound.

You can consume (=use), conserve, generate (=create), save or
waste energy.

Phenomena emerge or occur and students will try to observe,
investigate and then explain those phenomena.

Academics collect, collate (=organise) and publish their results.
Sometimes results are questioned or invalidated (=shown to be
wrong). Occasionally they are even falsified!

Roles may be defined or strengthened. People or factors can play a
role or take on a role.

You can take or provide or analyse a sample.

You can discover, devise (=think up), work out or develop a way
to do something.

Task 19. Fill in the gaps in these sentences with a verb from B.
Change the form where necessary.

1. I first ___ into contact with Abdul when I started my doctoral
research in 1987.

2. The country _____ so much energy that we don’t ____ enough
to meet all our needs.

3. The space race _____ an important role in post-war politics.

4. In her research project, Diana ____ the phenomenon of extra-

sensory perception but she was not able to come to any significant
conclusions.

27



5. Although Hans’s rivals attempted to his results, they met

with no success.

6. Green’s poetry successfully elements from a number of

different traditions.

Task 20. Match the beginning of each sentence with the most

appropriate ending.

1. It took the team a long time
to devise

2. During the war we had to
break

3. There has been a lot of
heated debate

4. ITan Hartmann was invited
to take on

5. Part of my role was to
collate

6. The doctor wanted me to
provide

7. Scientists
world contributed

8. A new and unexpected
phenomenon

9. Using shading helps to
differentiate

all over the

surrounding the issue of global
warming.
a blood sample for analysis.

the role of project leader.
to the debate on cloning.

off contact with

abroad.
seems to be emerging.

colleagues

the key elements in a graph.
a way to solve their problem.

the results of our experiments.

Task 21. Choose the best word from the box to fill each of the

gaps.
conflicting crucial define discern engaging
heated interim  maintaining practical  proper
publish random  taking

1. She obtained her results by _ a __ sample of the
population.

2. Before we go any further we must ____ each of our roles more
precisely.

3. We must decide what is the

terms.

way to proceed, in




4. The group succeeded in contact long after they had all left
college.

5. My trip to Africa was the _____ element in my decision to work
in conservation.

6. Specialists in the field of bio-engineering have been ____ in
_____debate on this issue for some time.

7. 1 am told that Smythe is about to some results.

8. Professor Powell was able to _ some ___ elements in

different accounts of the incident.

Task 22. Match the prefixes with their meanings.

1. anti-war; pro-war a) again

2. cyberspace b) former

3. non-smoker ¢) not enough; below

4. reorganization d) bad(ly), wrong(ly)

5. ex-wife e) half; partly

6. malpractice; misbehaviour | f) distant; involving the phone or
television

7. underground g) against; in favour of

8. semi-circle h) relating to computers / the
Internet

9. telecommunication i) false, not real

10. pseudo-science J) ahead; before

11. forecast k) relating to yourself or itself

12. eco-friendly 1) two or twice

13. bilingual m) relating to the environment

14.  autobiography;  self- | n) not

discipline

Task 23. Complete the sentences using the prefix in the sentence
and one of the words in the box.

ability annual eafé esteem final information
graduate  information  profit write

0. A cyber café is a popular place for tourists and travelers to send
and receive emails.

1. A charity is a non- organization which gives help or
money to people who are ill or poor.
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2. Tickets were sold out months before the semi was due to

be played.

3. It’s much easier to re work that has been done on a
computer.

4. Most under courses at British universities take three
years to complete.

5. The ex- of the United States was present at the
ceremony.

6. The government was accused of deliberately deceiving the
public by giving it mis about the treat of was.

7. A bi event takes place twice a year.

8. He was suffering from depression and low self-
9. After the accident he was left with a severe physical dis

LINKING WORDS

Linking ideas is something students will need guidance on. Using a
variety of linking words is important, as is ensuring that the flow of
ideas in the writing is logical and easy for the reader to follow.
Linking words that join clauses within a sentence. There are also
linking words that join ideas across sentences and paragraphs. These
are sometimes called ‘text organisers’ because they make clear the
organization of what we say or write. They are more common in
writing or formal speech. They usually come at the start of a
sentence and have a comma afterwards, but can come after a comma
in the middle of a sentence.

v" Sequencing: We often number or order the points we are
making.
First (of all) ..., Secondly ..., Next ..., Then ..., Finally/lastly/last of
all ...
In narrative, the sequence of events can be introduced by:
First ..., Then ..., After that ..., Finally/in the end ...

v Adding: We can introduce additional points.
Furthermore ..., Moreover ..., In addition to ..., As well as this ...,
Besides this ...

v" Giving opinions: We can introduce personal opinions.
Personally ..., In my opinion/view ...

v" Giving examples
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We can introduce examples.
For example, ..., For instance ...
We can also use such as to give an example, but it is not used at the
beginning of a sentence.
The factory produces electrical goods, such as food mixers and other
kitchen appliances.
v Showing a result

Consequently ... / As a result ... / Thus ...

v Showing cause and effect relation:
Hence — Therefore — Thus — For this reason — Due to this fact

v" Making a contrast:
On the other hand, ... / However ... / Nevertheless ... / In contrast .../
In comparison ...

v' Summarising: We can summarise all the points we have
made.
In conclusion ... / To sum up ...

Task 24. Match the sentences beginning (1-6) with an ending (a-
f) to make sentences.

1. The word ‘organic’ has been used to describe everything from
vegetables to toothpaste. In addition, ...

2. Casa Mila has two courtyards in order to ...

3. Both Gaudi and Utzon left major projects unfinished.
However, ...

4. Utzon left the Sydney Opera House project before it was
finished, so ...

5. The interior of the Sydney Opera House is disappointing
because ...

6. Many of Gaudi’s buildings resemble plants and animals. For
example, ...

a) it was not designed by Utzon.

b) allow light into each flat in the building.

¢) they did so for very different reasons: Gaudi was killed, while
Utzon was dismissed.

d) Casa Mila seems to stand on elephant legs.

e) he did not complete its design.

f) it describes a distinctive form of architecture.
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Task 25. Some of the paragraphs of your paper may include
opposing ideas which you then say to be false (refute). Look at
the phrases below and divide them into those that are used to
give opinions, and those that are used to refute ideas or make
concessions and put them in the Useful language box below.

0. Although..., it does not necessarily follow that ...

1. in spite of / Despite the fact that ...

2. There is no doubt that ...

3. While it is true to say that ... , ...

4. ... Nevertheless, ...
5. The fact that ... does not necessarily mean that ...
6. The evidence for ... is undeniable,
7. It may be correct to say that ... but ...
8. It appears to be the case that ...
9. ... Having said that, ...
10. Despite + -ing ...,

Useful language: Giving and refuting opinions

Giving opinions Refuting opinions

Although..., it does not
necessarily follow that ...

Task 26. Combine the pairs of ideas so that the second idea
refutes the first. Use Language from exercise ___.

0. While it is true to say that beautiful buildings are important in
a city, it is the infrastructure that most affects quality of life.

0. beautiful buildings are important in a city / it is the
infrastructure that most affects quality of life

1. modern art is often criticized / all of it is bad

2. living in a city can be stressful / there are still many advantages

3. architects should express themselves freely / their work must
also be practical

4. cities offer the opportunity to become wealthy / there remain
many residents living in poverty

5. pop stars depend on computer technology / they are not good
musicians
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Task 27. Study the statements below and then refute them.

It is often accepted that the design of new buildings should match
that of the surrounding architecture. Nevertheless, there are many
examples where contrasting designs have been successful, such as
Sydney Opera House.

1. An artist who cannot draw is not a true artist.

2. The increasing use of digital technology in music means that in
the future there will be no real musicians.

3. Charity concerts do nothing to help world problems. They only
promote the careers of the performers.

4. Historic cities should offer free parking in the city centre for
visitors.

5. High rise buildings are the only solution to overcrowding in
cities.

Task 28. Put the linking expressions from the text under the
heading which describes how they normally are used.

although as aresult (of) because (of) consequently
despite/in spite of dueto forinstance  finally first of all
furthermore however in addition in conclusion
in the same way  lastly moreover nevertheless next on
the other hand  provided (that) similarly so so as (not to)

sothat  such as therefore to conclude  to sum up

unless  whereas/while yet

Sequencing ideas Expressing Expressing contrast

conditions

firstly, secondly If but

Adding further | Stating results Expressing

support similarities

besides thus likewise

Providing reasons Giving examples | Concluding

statements
(in order) to for example in summary
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Task 29. Make a simple drawing to illustrate each of the

following.
A Graph
B Bar chart
C Pie chart
D Table
E Multiple diagram (e.g. two or more diagrams about the

same topic)

F Process or cycle (e.g. flow chart showing the greenhouse
effect)
G Ilustration (e.g. how two different cameras work)
H Map
Useful language: describing trends
Meaning VERB NOUN
go down decrease same
fall same
drop same
decline same
plunge (big change) /
plummet (big change) |/
go up increase same
rise same
grow growth
double doubling in + n
treble trebling in + n
rocket (big change)
no change level off a levelling off at
~ remain the same /
- remain stable /
stabilize /
constant change fluctuate fluctuation in + n
Position reach a high / peak of | a high of
-(> reach a low of alow of
stood at /
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meaning ADJ/ADV
small change steady(ily)
slight(ly)
gradual(ly)
large change considerable(ly)
sharp(ly)
dramatical(ly)
significant(ly)
substantial(ly)

ADJ & ADV PATTERNS
Sb+v+ADJ+N
There was a substantial increase in students
in 2006.
Sb + V+ ADJ
The number of students increased substantially
throughout the period from 2002 to 2006.

TIME PHRASES

from 2005 to 2010

from 150 to 300 units

in 2010

for 10 years

between 2005 and 2010

during/throughout the period from 2005 to 2010

Task 30. Replace the underlined phrases in sentences 1-10 with
the verbs from the box.

hitalow  fell and levelled off  remained flat/stable
plummeted rose gradually fell gradually soared
dipped fluctuated hit a peak

1. The price of laptops dropped followed by a period of stability.

2. Numbers reached a high in the year 2019.

3. The amount of money spent fell slightly and then quickly
recovered.
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4. Visitor numbers to the website plunged in the first quarter of
the year.

5. Book purchases increased slowly but surely over the year.

6. The number of students applying to the university stabilised
over the decade.

7. Attendance at the conference decreased steadily last year.

8. The growth rate was erratic during the previous year.

9. Member numbers reached their lowest point in March.

10. Car sales rocketed over the period.

Task 31. To add a variety to your writing you can use the nouns
instead of verbs to describe movement. Look at the nouns in the
box and decide which ones are not correct.

adrop aplunge abottomout anincrease stabilisation
fluctuations  adecline  arocket asoar  aplummet
arise adip afall aleveloff aclimb apeak asurge

Task 32. Rewrite the sentences from Task 31 using nouns instead

of verbs. Use the following structure: There was a (+ adjective) +

noun + in ...... . For three of the sentences this is not possible.

Make any other necessary changes.

Example: There was a drop in the price of laptops followed by a
period of stability.

Task 33. Complete sentences 1-10 with a word from the box
below. Make any necessary changes.

surge  breakdown  fluctuate remain steady trend
decline  plummet downward show  noticeable

1. The most feature of the chart was the sharp fall in
theatre attendances.

2. The graph the increase in the market share of Facebook
compare to the other two sites.

3. Shopper numbers over most of the year, but the last
three months were less erratic.

4. There was a ____ in visitors to the site during the holiday
period with numbers almost doubling.

5. The amount of energy used throughout the first nine

months and then it began to increase.
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6. Sales in September, hitting a low for the year.

7. There was a gradual in profits over last tear.

8. The trend for two of the sites was upward, with the other being
clearly

9. There was very little difference in the _____ in sales for all five
companies, with the exception of Sewell Ltd.

10. The chart provides a of the number of passenger miles
travelled according to different modes of transport.

Task 34. Write at least 150 words.

The graph below provides a breakdown of the UK weekly market
share of visits to three social networking websites between March
2007 and March 2008.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

UK Weekly Market Share of Visits
2.5% ‘

o |
2.0% | i | | = | ! o - | 1.96%
1.5%
1.0% ! B R O e SRR P R

0.5% S PR I

0%

10 07 05 02 30 28 25 22 20 17 15 12 09 08 .
Mar Apr May Jun Jun Jul Aug Sep Oct Nov Dec Jan Feb Mar
_www.bebo.com WWW.Mmyspace.com .............. www.facebook.com

a  The graph below shows in percentage terms the UK weekly
market share of visits to three websites between March 2007
and March 2008.

b The chart below shows the percentage of hits to three websites
over the period of year.

c The chart illustrates the market share of hits to various social
networking sites in the UK on a weekly basis over one year to

March 2008.
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Task 35. Complete the gaps in the following model answer for
the task with the correct form of a suitable verb. There may be
more than one possible answer.

The graph (1)___ the proportion of hits to three social networking
sites on a weekly basis from October 2007 to 8 March 2008.

The most viewed site (3)____ clearly www.facebook.com, whose
share of the market (4) dramatically from approximately 0.25
per cent on 10" March 2007 to 1.96 per cent on 8™ March 2008. This
®)) nearly an eightfold increase over the period. It (6)
noticeable that the market share of Facebook (7) a high of
around 2.2 per cent during December 2008, with peaks being hit by
the other two sites during the same period.

The market share of hits to the bebo site, meanwhile, (8) at a
slower pace from about 1.2 to 1.44 per cent, a rise of approximately
40 per cent. In contrast to the other two websites, the market share of
www.myspace.com (9) , decreasing from approximately the
same level as www.bebo.com on 10" March 2007 to 0.89 per cent.

Task 36. Write each of the fractions in Column A as a
percentage. Then match the fraction in Column A with the
expression in Column B.

A B
1. 1/3 a) two thirds
2.2/3 b) three fifths
3. % ¢) (a/one) half
4. % d) three-quarters
5.% €) seven out of ten
6.3/5 f) one in three
7.7/10 g) a/one quarter
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Task 37. Write at least 150 words.
The charts below show the world traffic volume measured in
passenger-kilometre-miles.
Summarise the information by selecting and reporting the main
features, ana make comparisons where relevant.
World traffic volume
23.4 trillion pkm2000 53 trillion pkm 2030

O 9

= automobiles ®buses = railways = high-speed transport = automobiles ®buses = railways = high-speed transport

103 trillion pkm2060

’/2195\/

"

= automobiles = buses = railways = high-speed transport

The pie charts (1 show) the changes in the proportions of pkm for a
range of different forms of transport every thirty years between 2000
and 2060 along with the total number of passenger kilometres.

The most striking feature of the chart (2 be) the rise in traffic volume
from high-speed transport. It (3 expect) to see a dramatic increase,
climbing from just 9% of traffic volume in 2000 to 25%, and then
41% in 2030 and 2060 respectively. By contrast, it (4 predict) that
there will be fewer automobile pkm, which (5 shrink) from 53% of
market share to 43%. And to35% in 2060.

While railways (6 see) the most significant fall in traffic volume
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percentage-wise, it (7 anticipate) that buses (8 fare) better. The
former (9 represent) 9% of total traffic volume in 2000, but the
projected figure for 2060 (10 be) just 4%, a drop of more than 50%.
This (11 compare) with traffic volume for buses in 2060 of 20%
against 26% in 2030, and 29% in 2000.

It is clear that high speed transport (12 expect) to increasingly
dominate the market.

Task 38. For 1-5, underline two suitable words or phrases in

italics to link the information. Use the punctuation to help you.

1. By 2030 it is predicted that more of the total traffic volume of the
total 53 trillion pkm will be accounted for by high-speed
transport than in 2030 (25% against 9%). By contrast/While/By
comparison automobiles are expected to account for 43% and
53% in the respective years.

2. In the year 2060 it is projected that high-speed transport will
account for 41% of total traffic volume. By
contrast/Whereas/Meanwhile, bus use is expected to shrink to
20%.

3. In 1960 automobiles accounted for 54% of the traffic volume,
but/whereas/in contrast high-speed transport represented only
3%.

4. The majority of traffic volume was made up of automobiles in
2000 at 53%. Meanwhile/But/By contrast, buses accounted for
29%, with the railways and high-speed transport coming next
with 9% each.

5. The proportion of passenger traffic miles accounted for by
automobiles is expected to decrease to 43% by 2030,
whereas/whilst/while it is forecast that the pkm for railways will
shrink by a smaller amount: 29% to 26%.

Task 39. Use the list of words in 1-4 below to write your own
sentences about the pie chart in task 38. Add the relevant
data from the charts.

1. high-speed transport account for traffic volume in 2000 while in

2060 forecast represent
2. estimate proportion traffic volume automobiles 2060 in contrast
2000
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3. in 2000 automobiles make up bulk passenger kilometres but 2060
this forecast drop to

4. in 2000 out of the total traffic volume of 23.4 trillion pkm
automobiles account for buses, railways and high-speed
transport respectively by comparison by 2030 anticipate high
speed transport jump automobiles buses railways

Task 40. Write at least 150 words.

The charts below provide information about energy generation by
fuel type in Florida in two separate years.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Energy generation by fuel type
2\ /

2017 2027 forecast

Hwﬁ)

@\

®natural gas mcoal mother =nuclear woil ®renewables ® natural gas = coal = other nuclear woil = renewables
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Task 41. The bar charts below give information on road transport in a
number of European countries.
Summarise the information by selecting and reporting the main

features, and make comparisons where relevant.
Travel per person by bus, train, metro and bike
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MAKING PRESENTATION

KEY POINTS
Function Language
Welcoming your Good morning, ladies and gentlemen.
audience Good afternoon, everybody.
Addressing the I appreciate you taking your time to attend this

audience and
arousing interest

presentation.

Introducing the
subject

I’m going to talk about / present / give you an
overview of / inform you about /

Id like to start with

Let’s begin with

First of all, I'1l

Formulating a thesis
statement and a
purpose

The purpose of my presentation is to introduce

Giving an outline

To start with I’ll describe the progress made this
year.

Then I’ll mention some of the problems we’ve
encountered and how we overcame them.

After that I’ll consider the possibilities for
further growth next year. Finally, I’ll
summarise my presentation.

I’ll be speaking about the following main points.

My presentation will focus specifically on _____
questions.

I’ll be glad to answer your questions while I'm
speaking / at the end of my talk.

Starting the first
point

That deals with the question of

Let’s start with

Let’s start with a brief background of our
company.

We are pleased to announce / introduce our

Closing a point

Well, I’ve told you about
That’s all I have to say about
I’1l have to close here.
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Function

Language

Starting another

Let’s turn now to the question of

Now we’ll move on to

I’d like now to discuss —Next__
Let’s looknowat

Now let me turn to

Referring to visual
aids

I’d like you to look at this chart / graph.

Clarifying Let me just go over that again.
Giving Therefore,
reasons / causes So,
Asaresult,
Consequently
That's why

This is because of
It may result in

Giving an example

For example,

A good example of this is
As an illustration,

To give you an example,
To illustrate this point

Dealing with
questions

If you have any questions, I’d be glad to answer
them at the end.

I’ll try to answer all of your questions after the
presentation.

We’ll be examining this point in more detail
later on.

I’d like to deal with this question later.

I won’t comment on this now.

Summarizing and
concluding

To conclude,

In conclusion,

Now, to sum up

So let me summarize (briefly) what I’ve said.
So. We’ve covered three main points

Finally, let me remind you some of the issues
we’ve covered
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Function Language

Ordering Firstly / secondly / thirdly / lastly,
First of all / then / next / after that / finally, _
To start with / later / to finish up,

Thanking your Many thanks for your attention.
audience May I thank you all for being such an attentive
audience.
USEFUL INFORMATION

Monolingual Dictionaries for academic writing:
https://dictionary.cambridge.org/dictionary/english/
https://www.collinsdictionary.com/dictionary/english/let-alone
https://www.investopedia.com/
https://ludwig.guru/s/with+respect+to+this
https://www.macmillandictionary.com/
https://english.stackexchange.com/,
https://english.stackexchange.com/questions/161100/is-this-usage-

of-nor-correct
https://www.powerthesaurus.org/broadly_speaking
https://www.thesaurus.com/browse/partly?s=t
https://www.ldoceonline.com/dictionary/popularity
https://www.thefreedictionary.com/departs+from

Correct writing in English
https://www.grammarly.com/blog/youve-been-lied-to-heres-why-
you-absolutely-can-end-a-sentence-with-a-preposition/
https://instruct.uwo.ca/writing/wg/wg.htm
https://instruct.uwo.ca/writing/wg/module2.htm
https://textranch.com/157658/according-to-the-above-mentioned-
statements/or/with-respect-to-the-above-mentioned-statements/

Article Databases of open access journals

https://doaj.org/

ScienceDirect.com | Science, health and medical journals, full text
articles and books.

Springer — International Publisher Science, Technology, Medicine
Web of Science Master Journal List — WoS MJL by Clarivate
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DOPMAT ICITUTY

KomnieTeHTHOCTI, IO TEPEBIpAIOTHCSA A Yac ICIHTY, SKHHA
MPOXOIUTH y TakoMy (hopmari:

1. IIucepMOBUI NEKCHKO-TPaMaTHYHUHA TecT (Yac BUKOHAHHS —
1 rom.).

2. YwramHs Ta THCBMOBHHA  TIEPEKIax  aHTIIOMOBHOTO
OpHriHaIBHOTO TeKcTy 3a (axom (2500 3HaKiB) 3 BUKOPHCTAHHIM
CJIOBHHKA (Yac BUKOHAHHSA — 1 TOII.).

3. [TucbMOBe aHOTYBaHHS AHTIIIHCHKOI0 MOBOK YKPaiHOMOBHOTO
3araJbHOHAYKOBOT0/(pax0BOr0 TEKCTY (Yac BUKOHAHHSA — 1 TO.L.).

4. becima aHrmiiickkoro MOBOIO 3 MpobieM  (axoBoro
JOCTIKEHHS.

3aBmaHHs 1-3 BHKOHYIOTBCS MiJ Yac MPOBEICHHS IHUChMOBOI
YacTUHH icnutry. Jlpyra dYacTMHa ek3aMeHy Tiependayae yCHY
MepeBipKy BMiHb: BHOIPKOBE YHTaHHS Ta TMepeKia] (axoBOro
TEKCTy, TPE3CHTAIlisl aHTIIOMOBHOI aHoTamii i Oecima 3 mpoOiem
HAYKOBOT'O JIOCII{/IKCHHSI acIlipaHTa/aciipaHKu.

3aranpHa orminka (40 0amiB) 3a icmuT 0a3yeThCs Ha OIIHKAX 3a
KOKEH 3 BUINEBKA3aHUX BUJIIB POOOTH ITijl Yac €K3aMeHY, a TAKOXK Ha
OIIIHIII 32 pedepart.
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